[Duplicates Rate vs ar |
nd - hs Ce e e X e
< 1_ < 1 < 1
2 | 2 2
e I ] o
I} T 0.8 T 0.8
[} n a L
4 L
= g 2 [
g 2
= 0.6 Q 0.6_—
=)
(o] L
0.4f---te e b iiEe e 0.4f- -5 e idib e e
0.2 0.2
fe) o +® o +~®f
= 3 IS [
x o o i
i
. : 0.95b——iiiuu 0.95 PR
107 1072 107 ! 107 1072 10 1 107 1072 10 o1
track min AR track min AR track min AR
——ROMm
—_ m WEE
(Fareraevs] — E§M mEEE HHE B
= 05 = 0.8 =
Qo [} Qo
£0.45 £ 07 3
€ 04 g . g
o he . X
J0.35 3 3
w 4 [2]
> > 05 >
o 03 o o
S0.25 € 04 g
$ 0 o
8 Q =
0.2 S 03 2
0.15 =3
3 0.2
0.1
0.05 0.1
o +L o +0 o
Il T S
a4 a4 a4
1 1
ogst HEHEHE ogsl—i 4 iiiis HEHEHEH ogsl—i HEHEHHTH HEHEHEHE
10 107 10 1072 107t 10 1072 107
AR(track, jet) AR(track, jet) AR(track, jet)
[Duplcates Rate vs pu |

0.5
0.45

0.35

fakerate vs PU
o
iy

o
w

0.25

0.05f
PN S TS PR T T U P P
o S I S S S S
S | P
@ 1-_ ........ ] "I“*u.uu PSR o) .LLLLI.l
N £ qu-l:Y 'r e W‘r‘rl[
e *T
0956536405060 70 8090100

Pileup

0.8

0.7

0.6

0.5

duplicates rate vs PU

0.4

0.3

0.2

0.1

Ratio

90 100
Pileup

30 40 50 60 70 80

pileup rate vs PU

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

+ H
04.‘.._

90 100
Pileup

0 30 40 50 60 70 80



	Contents
	Page 1


